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Maximum Marks : 100
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KINDLY READ THE FOLLOWING INSTRUCTIONS BEFORE ATTEMPTING
THIS QUESTION PAPER
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. This Question Booklet contains 100 questions with weightage of

1 mark for each question.

Before attempting the question paper, kindly check that this booklet
has total 24 pages and OMR Answer Sheets are in triplicate. At
the start of the examination within first five minutes, candidates
are advised to ensure that all pages of Question Booklet and OMR
Answer Sheets are properly printed and Question Booklet is not
damaged in any manner.

The OMR Answer Sheet consists of three copies, the original copy, the
commission copy and the candidate’s copy. Do not separate or displace
them. Do not darken the bubbles in three copies of OMR Answer Sheets
separately. Candidate must hand over the OMR Answer Sheet without
separating the three copies to the invigilator at the end of examination.
Invigilator will hand over the candidate’s copy after separating it. The
candidates are allowed to take away this Question Booklet with them.

Please ensure that the Question Booklet Number and OMR Answer
Sheet Serial No. match with each other. In case of any discrepancy,
the candidate should immediately report the matter to the invigilator
for replacement of Question Booklet and OMR Answer Sheet. No
claim in this regard will be entertained after five minutes of start of
examination.

All the necessary particulars on the OMR Answer Sheet should be
filled carefully. Change of OMR Answer Sheet is not permitted.

Do not forget to write Roll Number on the top of this Question
Booklet and OMR Answer Sheet. Do not tear or fold any page of
the Question Booklet and OMR Answer Sheet.

Candidate has to fill one option compulsory out of five options
given. If a candidate does not know the answer, then he/she has
to fill the 5™ option (option ). Extra five minutes will be given to
mark 5" option, No marks will awarded against the 5™ option as it
indicates that the candidate as not attempted that question.
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filled. In case a candidate does not wish to attempt a question,
he/she will need to fill in the fifth option/bubble in the OMR Answer
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Which of the following cannot be the
probability of an event ?

(A) 0.4 (B) 4%

(C) 0.04% (D) 4

(E) Not attempted

Nominal Gross Domestic Product (GDP) is

(A) Gross Domestic Product (GDP)
evaluated at per capita income

(B) Gross Domestic Product (GDP)
evaluated at current market prices

(C) Gross Domestic Product (GDP)
evaluated at constant market prices

(D) None of the above
(E) Not attempted

In a certain code language, “in the end”
means “moh fijk omt”, “end is near” means
“azh moh bod” and “in near future” means
“omt azh epy”. What will be the code for
“near” ?
(A) moh
(C) bod
(E) Not attempted

(B) epy
(D) azh

What is the rank of Haryana among
Indian States in terms of software export ?

(A) First (B) Third
(C) Second (D) Fourth
(E) Not attempted

When was the first General Election of
India held ?

(A) 1948 — 49

(B) 1951 —52

(C) 1956 — 57

(D) None of the above
(E) Not attempted
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frafafiga 9 9 -4t foreft e i

YTRrehdt &1 B Fehdl ?

(A) 0.4 (B) 4%
(C) 0.04% (D) 4
(E) 3v=nfEa

AT Hehel T 3cTg (S.Ehd) 8

(A) Ifd AT 3T 9 YoAThA Tehal TR
Tl Te] 3cdTe (S.En)

(B) THM SR Hod! T Hoeh fohall
T Hehel Be] 3cdTg (SfLEhdt.)

(C) TR SR et W qeAtehd foham o
Tl T 3c1g (S.Ed)

(D) Suderd # § g T

(E) e

fereht d HIET # “in the end” &1 312 “moh
fik omt” % “end is near’ %1 31 “azh moh
bod” 8 3T “in near future” T Y “omt
azh epy” 2 | “near” % foiQ R g ?

(A) moh (B) epy

(C) bod (D) azh

(E) TSRy

atgeer frata & amet ¥ ghemmn =
HAT T | 1 S R 7

(A) w&eT (B) T

(C) g&u (D) =hten

(E) ST

I bl Fgcdl 3TH AT el 3T AT 7
(A) 1948 — 49

(B) 1951 — 52

(C) 1956 — 57

(D) ST # H HIE T

(E) 3Tomféd
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The signs of abscissa and ordinate
of a point in the second quadrant are
respectively

(A) (= +)
(C) (+,+)
(E) Not attempted

If sin®0 — cos®0 = 0, then 0 is
(A) 0° (B) 45°
(C) 30° (D) 90°
(E) Not attempted

What type of signal does Integrated
Services Digital Network (ISDN) use ?

(A) Analog

(B) Digital

(C) Hybrid

(D) None of the above
(E) Not attempted

Select the correct alternative that indicates
the arrangement of the given words in
the order in which they appear in English

Dictionary.

1. Prestige
Pristine
Prescribe
Prepaid

. Premium

(A) 4,5,3,2,1
(C) 5,4,3,1,2
(E) Not attempted

AN S

(B) 5,3,4,1,2
(D) 4,5,3,1,2

Which canal irrigates Gurugram and
Faridabad districts of Haryana ?

(A) Bhakra Canal

(B) Bhiwani Canal
(C) Jawahar Lal Canal
(D) Gurugram Canal
(E) Not attempted
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(A) (= +) (B) (+, -

C) (+ +) (D) (- -

(E) 3rv=nfEa

Ife sin%0 — cos®0 = O%, ar 9%

(A) 0° (B) 45°

(C) 30° (D) 90°

(E) 3m=nfEa

e wioey fefiedt Jeawh (318,188 .)
fore 9o & TS 1 SUFT a1 B 7
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(C) TEfore

(D) 3w ¥ & IE T

(E) 3anfEa
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%I 34 Y T AT 7, Y o S ITegehist
T 37§ |
Prestige
Pristine
Prescribe
Prepaid

. Premium
(A) 4,5,3,2,1

(C) 5,4,3,1,2
(E) A9iyd

FIETOT % T 37 wiimerg et
féremg - et el § 7

(A) HIEST &Y

(B) forart 7

(C) STaTet et &t

(D) U™ "=l

(E) 3Tomfed

R

(B) 5,3,4,1,2
(D) 4,5,8,1,2
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Select the word from the given alternatives
which cannot be formed by using the
letters of the following word.

CONVERSATION
(A) NATION (B) STATION
(C) VERSION (D) REASON

(E) Not attempted

Which of the following pair is not correctly
matched regarding the Cabinet of Akbar ?

(A) Vakil — Chief Minister

(B) Diwan-i-Ali — In-charge of
Charities

(C) Diwan — Revenue Minister

(D) Khan-i-Saman —
(E) Not attempted

Home Minister

What is the name of the woolen muffler worn
around the neck by men in Haryana ?

(A) Guliband

(B) Kamari

(C) Mirjai

(D) Chaddar

(E) Not attempted

Which of the following is not true ?

X
X

|
D WD WIN

+
lon Mo AlO

+

N Mlor NG

—_—~
@)
N—
N WINdD WD

X

(D)

(E) Not attempted
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15. Perfetti Van Melle India is located in
which district of Haryana ?

(A) Faridabad
(B) Ambala
(C) Gurugram
(D) Sonipat
(E) Not attempted

16. Article 21 of Indian Constitution states
that no person shall be deprived of his life
or personal liberty except

(A) By the President’s order
(B) By the Prime Minister’s consent

(C) According to the procedure
established by law

(D) None of the above
(E) Not attempted

17. The meaning of Phulkari is
A) A large part of villages of Haryana
B) An art of making clay pots

(
(
(C) An art of shawl making
(D) None of the above

(

E) Not attempted

18. Complete the following analogy.

All - /-\ ||V | ?
A =&
o |\ o\

(E) Not attempted

(A)

15.

16.

17.

18.
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(B) Tt & w7 a9 it TH ol
(C) SNeA S hl Teh el

(D) ST # § IS T

(E) 3Tomida

Fr=feriad e qut Hifs |

Ai/-\::V: ?
™ | o\ ® | /m\
4



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda

19.

20.

21.

22,

23.

e

What does DSS stand for ?
(A) Digital Satellite Service
(B) Direct Satellite System
(C) Digital Satellite System
(D) Direct Service Satellite
(E) Not attempted

Ifa:b=5:7andb:c=8:9, then what
istheratioofa:c?

(A) 35:54
(C) 45:63
(E) Not attempted

(B) 40 : 63
(D) 40 : 54

The National Voters’ Day is observed on
(A) 25" November

B) 26" November

(

C) 30" December

(

(D) 25™ January

(E) Not attempted

What is the name of the mirror-studded ring
worn on the right hand thumb by women in
Haryana ?

(A) Anant
(B) Aarsi
(C) Kangni
(D) Ponche

(E) Not attempted

Which of the following was the partner State
of International Gita Mahotsav 2024 ?

(A) Gujarat

(B) Uttar Pradesh
(C) Odisha

(D) Rajasthan
(E) Not attempted

19.

20.
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.U . BT R AT R ?
(A) Tefsea dease afdw
(B) SRRA® BeaTse fomen
(C) feforea deemse fomem
(D) SRR TfeH HeeAtse
(E) 3Tomied

aﬁa:b=5:73ﬁ'{b:c=8:9%,Fﬁ
a: ¢ 1 ITIITA FIT BT ?

(A) 35:54 (B) 40:63

(C) 45:63 (D) 40: 54

(E) 3Tomféa

TSER wereran fees TR ST &
(A) 25 TEeR
(B) 26 &R
(C) 30 femar
(D) 25 SHad
(E) 3v=nfEa

B # Afeenisti gr gifed g1y % 38
T Ugd S areft St § St SISt 1 am
ERIR

(A) 3

(B) Tt

(C) T

(D) dr=l

(E) 3r=nfEa

frafefaa & @ SF-a1 A far
TEIcdd 2024 T WIgR TS AT 7
(A) TSR

B) 3T Y&

C) 3mEim

D) TSR

(
(
(
(E) 3r=nfEa
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24.

25.

26.

27.

Which of the following diagrams
indicates the best relationship between
Quadrilateral, Rhombus, Polygons ?

(A)
(@
O

(E) Not attempted

Which of the following is a joint venture
between Japan and France located in
Sonipat district of Haryana ?

(A) Nestle India

(B) Yakult Danone India Private Limited
(C) Glaxo Smith Kline

(D) Ranbaxy

(E) Not attempted

When was ASEAN (Association of South
East Asian Nations) established ?

(A) 1967 (B) 1985

(C) 1992 (D) 1949

(E) Not attempted

How many times President’s Rule has
been imposed in Haryana ?

(A) One (B) Two

(C) Three (D) None of these
(E) Not attempted

24.

25.

26.

27.
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28. A train travels at a speed of x km/hr for 28. e oA x foprt/=re i 7ifa @ 2 5 o=

2 hours, then decreases its speed by ToAdt 8, TR 31t mifa 10 foredft /5ier 5w
10 km/hr and travels for another 3 hours. T edl 2 3R srfafea 3 92 a6 I Hdt
If the total distance covered is 370 km, 2 | gfe a9 ki T8 B g;f[ 370 ferrt B, ot
then what is the initial speed of train ? 9 1 urfiyes i =T R 2
(A) 80 km/hr (B) 100 km/hr (A) 80 feptft /1 (B) 100 feptft /e
(C) 90 km/hr (D) 60 km/hr (C) 90 feret/Erer (D) 60 fertft /e
(E) Not attempted (E) 3rv=nfEa

29. In which year ‘Har Ghar Hariyali Yojana' | 29. ®f@mm # ‘&t =R gi@meht awHr fea ad
was launched in Haryana ? IE i TS off 7
(A) 2017 (B) 2016 (A) 2017 (B) 2016
(C) 2015 (D) 2018 (C) 2015 (D) 2018
(E) Not attempted (E) YR

30. Which tier of Panchayati Raj is 30. i °§ e =@ W anfiur fas & fou
responsible for rural development at the USRI TS Rl hIH-9T & Iaert & ?

district level in Haryana ?

(A) I 9= Id
(A) Gram Panchayat .
(B) Panchayat Samiti (8) wfd
(C) Zila Parishad (ORESIRILS
(D) Gram Sabha (D) g™ |+
(E) Not attempted (E) 3t
31. Consider the following statements about | 31. 3Tsfdl grcmaﬁ % 91 H frferfad el ®
Ajanta caves. fram 2 |
i. They are located in the Aurangabad : i : ;
distr)i/ct of Maharashtra. ’ B ,3 iéﬁ . et & feora 2 |
ii. It has twenty nine caves, built over a ii. $EH IAAE THIC &, S AT 3118
period of almost eight centuries. SIHT@?ﬁ &1 3ty o EFﬂ's: TI‘§ % |
iii. Caye numper 26 i§ very big a.nd i, T e 26 55T 3 2 3 tﬁ
ent!re interior hall |.s carved with ffvn 2ot 6 9 £ fyfirg shygt
variety of Buddha images. !
iv. The biggest one is Mahaparinibbana HA TR |
image. iv. T T B AREiieET i 2 |
Which of the statements given above is/are 31:@75[ T H HH-T1/3 Y9 F8 8/ 7
correct ? . .
(A) Only i and ii (R) 9 |
(B) Only iii and iv (B) e iii 3T iv
(C) Onlyi (C) e |
(D) All of the above (D) 3w Tt
(E) Not attempted (E) e
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32. Badhkal Lake is located in which district

of Haryana ?
(A) Hisar (B) Faridabad
(C) Kurukshetra (D) Panchkula

(E) Not attempted

33. Choose the figure from the given alternatives

in which the following figure is embedded.

BY
G >

&

(E) Not attempted

(A)

(©)

34. Consider the following statements about

river water system of India.

1. In Deccan Region, most of the major
river systems flowing generally in the
east fall in to Bay of Bengal.

2. The river Cauvery in the southern
peninsula has the second largest
river basin covering 10 percent of the
area of the India.

Which of the above statements is/are
correct ?

(A) Only 1

(B) Only 2

(C) Both1and 2

(D) None of the above
(E) Not attempted

32.

33.

34.
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i & forg e ° sewa i
femag ?

(A) fEER
(C) Fear
(E) 3Tv=mtyd

(B) ®iigreTe
(D) TRl

fou 7w foreredi § 9 38 3TR(d 1 =
e o frfeTRaa smepfd fesdt 5 2 |

BY
G >

&

(E) 3=nfEa

(A)

(C)

URA <hl el STeA YOTTedT o o1 o

Frefafiaa et o famm =t |

1. CHREA &3 § qd H F& arell ST
U@ el gunferat e shi @ret §
iRt & |

2. eferoflt yIgla o ekl TE YRa &
10 ST &3 sl el L dretl gadl
qo o A oA 7 |

IR # § H-A1/8 HU W B/ 7

(A) I 1

(B) heet 2

(C) 1 3R 2gHT

(D) ST | B IS Tl

(E) 3T
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37.

38.

39.

e

Ghaggar-Hakra river basin is classified in
two parts, where the higher area that is
not flooded in rainy season is called

(A) Khadar (B) Kalar
(C) Bangar (D) Banjar
(E) Not attempted

The sum of ages of A and B is 72. If they
are in the ratio 23 : 13, then find the age
of B.

(A) 32 years
(C) 24 years
(E) Not attempted

(B) 46 years
(D) 26 years

What are data chunks transmitted over
the Internet called ?

(A) Frames (B) Packets

(C) Segments (D) Bytes

(E) Not attempted

Which traditional jewelry piece worn by

Haryanvi brides consists of a spherical-
shaped ornament attached to a string of
gold ?

(A) Nath

(B) Borla

(C) Koka

(D) None of the above

(E) Not attempted

In the following letter series, some of the
letters are missing which are given in that
order as one of the alternatives below it.
Choose the correct alternative.

bc_ca_aba_c_ca

(A) abcbb (B) bbbcc
(C) baaba (D) abbcc
(E) Not attempted

-10-
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YUR-ETR{ ¢! O bl & I | §ieT TR0
B, &l a9 o HiEq § 96 | 8 a1
I & I HaT AT &

(A) @I (B) shel
(C) SR (D) SR
(E) 3=

A 3T Bl 1Y 1 A 72 B | Afe ShI

3T T AT 23 : 13 B, @1 B 6 317
FTa HifS |

(A) 3299 (B) 46 =

(C) 24 a9 (D) 26 =Y

(E) 3Tomféd

3T W YEING ST =h ! FAT el
ST P

(A) ®H (B) ke

(C) HmHE (D) STgZE

(E) 3Tomféa

BREATEN oAl gRI 9e- 9T aTell ShiH-H1
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42,

43.

44.

e

If ‘A’ means ‘+’, ‘B’ means ‘—', ‘C’ means ‘+,
and ‘D’ means ‘x’, then the value of
18A12C6D2BS5 is
(A) 15

(C) 17

(E) Not attempted

Who is popularly known as the ‘Swang
Samrat’ of Haryana ?

(A) Harish Kataria
(B) Pandit Lakhmi Chand
(C) Baje Bhagat

(D) Ali Baksh

(E) Not attempted

An article is marked at ¥ 3,000 and is sold
ata 40% discount. If the shopkeeper incurs
a 10% loss on the cost price, then what
was the original cost price of the article ?
(A) ¥ 2,000 (B) ¥2,100

(C) X 1,800 (D) ¥2,250

(E) Not attempted

The Chalukyan style of architecture is the
unique synthesis of which of the following
styles of architecture ?

(A) Dravida and Nagara styles
(B) Dravida and Kalinga styles
(C) Nagara and Hoysala styles
(D) None of the above

(E) Not attempted

What does the computer do with the input
received ?

(A) It deletes the data

(B) It processes the input and generates
output

(C) It sends the data to another computer
(D) None of the above
(E) Not attempted
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CHIAF R, DH I KR, @
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(A) 15 (B) 25

(C) 17 (D) 45

(E) 3=t

EITOT o TETT GYTe’ o 919 H i
BT B ?

(A) BT sherien

(B) ufed et =g

(C) ST WiTd

(D) 3Teit S&w

(E) A9iaa

Teh I W T 3,000 3ifehd B 3R 98 40%
1 T T F=T A@1 & | ATG GHMER hl
AT qed T 10% h1 16 &It 7, af a%g
ST AR AT Jod 1 o7 7

(A) 2,000 (B) ¥ 2,100
(C) % 1,800 (D) % 2,250
(E) 3=nfEa

AT aRegehetl Sreft f=feifaa § @ ford

ATl At 1 gt FIewoT & 7

(A) g 3R A A

(B) gfere 3N shfe Seht

(C) AR 3R BrEEe Jeft

(D) Suderd # § g T

(E) 3TomiEd

TS 39 < T SR FT HLAT & 7

(A) g 1 I BT &

(B) IE TTYE ! THH HLAT § 3T 3YCE
SRS HdT 8

(C) ¥Z 22 ! GE L T WA &

(D) g H & HIS T
(E) 3=t
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47.

48.

49.

e

How many times in a day, are the hands
of a clock in straight line but opposite
direction ?

(A) 22

(C) 20

(E) Not attempted

(B) 24
(D) 48

Which number will come in the place of
question mark (?) in the following number
series ?

3,5,9,7 33,65
(A) 13 (B) 15
(C) 17 (D) 19

(E) Not attempted

What is the significance of the ‘Peeliya’
Odhani in Haryana’s customs ?

(A) Worn during marriage ceremonies
(B) Given to a bride by her in-laws

(C) Sent by parents to their daughter
after the birth of a male child

(D) Worn during harvest festivals

(E) Not attempted

Which of the following is not a storage
device ?

(A) Compact Disk (CD)

(B) Solid-State Disk (SSD)

(C) Memory card

(D) Monitor

(E) Not attempted

The value of (0.3)° is
(A) 0.27 (B) 27
(C) 0.027 (D) 0.0027

(E) Not attempted
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(C) 17 (D) 19
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fean St 2

(C) T A & T o g ot hl 3Toh
ATaT-foar gr 9T AT 8

(D) WA T3 o BRI o SR TgHl
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(A) S femh (H &)
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50.

51.

52.

53.

Who among the following Haryanvi
singers was known for Ghazals in Hindi
cinema during the 1930s and 1940s ?

(A) Zohrabai Ambalewali
(B) Lata Mangeshkar
(C) Noor Jahan

(D) Kishori Amonkar

(E) Not attempted

The sum of digits of a two-digit number
is 11. If the digits are reversed, then the
new number is 9 more than the original
number. What is the original number ?

(A) 56
(B) 68
(C) 45
(D) 54
(E) Not attempted

What is the average of first 40 natural
numbers ?

(A) 19.5 (B) 20

(C) 20.5 (D) 40

(E) Not attempted

What is the relationship between HCF
and LCM of two numbers a and b ?

(A) HCF + LCM=a+b
(B) HCFxLCM=a+b
(C) HCF xLCM=axb
(D) None of the above

(E) Not attempted
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(A) 56

(B) 68

(C) 45

(D) 54

(E) A9iyd
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(E) 3=t
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55.

56.
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e

Which of the following famous battle was
fought in Sirsa district of Haryana ?

(A) Battle of Thanesar

(B) Second Anglo-Sikh war

(C) Battle of Gujarat

(D) Battle of Chormar

(E) Not attempted

Which of the following are the primary

components of a computer system ?

(A) Central Processing Unit (CPU),
Monitor, Software and Cloud Storage

(B) Operating System, Software,
Hardware and Internet

(C) Central Processing Unit (CPU),
Memory, Input/Output devices and
Storage devices

(D) None of the above

(E) Not attempted

Which computer was built at Cambridge

University in 1946 ?

(A) Universal Automatic Calculator
(UNIVAC) I

(B) Electronic Delay Storage Automatic
Calculator (EDSAC)

(C) IBM 701

(D) PDP-8

(E) Not attempted

Who among the following was the first
Indian-origin woman to travel to space
and was born in Karnal, Haryana ?

(A) Sunita Williams
(B) Santosh Yadav
(C) Manushi Chhillar
(D) Kalpana Chawla
(E) Not attempted
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58. Which figure given in the alternatives will
complete the pattern in the figure given in
question ?

TR
? L

(B)

e

(©) (D)

N

(E) Not attempted

59. The Sheetala Mata Fair is organized in

which district of Haryana ?
(A) Gurugram

(B) Jhajjar

(C) Ambala

(D) Karnal

(E) Not attempted

60. Angles of a quadrilateral are in the ratio

3:4:4:7.Find the smallest angle.
(A) 20°

(B) 60°

(C) 80°

(D) 140°

(E) Not attempted

61. Which instrument is used to measure the

wind velocity ?

(A) Odometer

(B) Thermometer

(C) Anemometer

(D) None of the above
(E) Not attempted

-15-

58.

59.

60.

61.

GET IT ON
Google Play

CE1G -25

oo # &) ¢ 3rrhfer & e i forepedi A
& TS BI-H 3Tl qU B ?

TR
? 3

o

(B)

(©)

N

(E) 3=t

giemon & fora 5ot & sftaer arar der
ST ST & ?

(A) T

(B) &SR

(C) AaTeT

(D) HETA

(E) 3Tomfya

Tsh FqYST o IV I AT 3:4:4:7
2 | IS8 BT 101 1@ HIT |

(A) 20°

(B) 60°
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(C) T
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62. Anand and Deepak started a business
investing X 22,500 and X 35,000
respectively. Out of a total profit of
¥ 13,800, Deepak’s share is

(A) 5,400 (B) ¥7,200
(C) 8,400 (D) ¥9,600
(E) Not attempted

63. If 6 men and 8 boys can do a piece of
work in 10 days and 26 men and 48 boys
can do the same work in 2 days, then the
time taken by 15 men and 20 boys to do
the same work will be
(A) 4 days
(B) 7 days
(C) 6 days
(D) 8 days
(E) Not attempted

64. Consider the following statements about
classification of climate.

1. The most widely used classification
of climate is the empirical climate
classification scheme developed by
V. Koeppen.

2. V. Koeppen identified a close
relationship between the distribution
of vegetation and climate.

Which of the above statements is/are
correct ?
(A) Only 1
(B) Only 2
(C) Both 1and 2
(D) None of the above
(E) Not attempted
Q
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313,800 Hel oI § & €Tueh ol feedn
e gnm 2
(A) % 5,400 (B) % 7,200
(C) ¥ 8,400 (D) ¥ 9,600
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(A) 4T

(B) 7 e

C) 6T

(D) 8fe
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(A) haet 1
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(C) 13 2gMT
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65. Select the correct sequence of mathematical
signs to replace the * symbol and make
the given equation correct.

Equation : 216 = 6 * 8 * 64 * 48 = 500
(A) = — x, + (B) =, +, x,—

(C) x, +,+, — (D) x, +, —, =

(E) Not attempted

66. Where is Chokhi Dhani situated in
Haryana ?

(A) Panipat
(B) Karnal
(C) Sonipat
(D) Kurukshetra

(E) Not attempted

67. Consider the following statements about
Constitution of India.
i. Article 48 envisages States to provide
free and compulsory education.
ii. The Parliament of India brought
86™ Constitutional Amendment Act in
2006.
iii. Through 86™ Constitutional
Amendment, Article 21A is inserted
in the Constitution.
Right to education is a fundamental
right for children between 6 to 14 years
of age.
Which of the statements given above are
correct ?
(A) Onlyiandii
(B) Only i, ii and iii
(C) Onlyiiiand iv
(D) All of the above
(E) Not attempted
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65. T fegl 1 @ shu e St o« fag
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b |

HHIEIUT : 216 * 6 * 8 * 64 * 48 = 500
(A) = — x, + B) = +, x,—
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66.

TR Gfae™ o aR) § Fefafaa st
T formm & |
i. 3TTTeE 48 TSAT &l .31k 37
JAted f3rem em A <t uftehedH
T 2 |
ii. WL <hl §9e 3 2006 H 86 af
Tt Fenegs sTf=m weqa
o |
iii. 86 WIfIETeh TN & AT
Tfga™ § 3Teeg 21A Iy foRa
TR
iv. forer &1 SR 6 & 14 a9 61 3 *
Tl o fou e Aot iR 2 |
IR U U et o § HH-TT U TE B 7
(A) haet i 3T i
(B) whaed i, ii 3T jii
(C) whaed i 3T iv
(D) 3w @+t
(E) 3rw=nfEa
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A candidate who scores 20% of marks in
an exam fails by 30 marks, while another
candidate who scores 32% of the marks

gets 42 marks more than passing marks.

What is the total marks for the exam ?
(A) 300 (B) 400
(C) 500 (D) 600

(E) Not attempted

Which of the following equation
represents a straight line ?

(A) X* +y? =25

(B) 2x+3y =6

C) y=x"+4

(D) None of the above
(E) Not attempted

The seasonal river Markanda originates
from which area of Haryana ?

(A) Aravali Hills

(B) Shivalik Hills

(C) Rajasthan Plateau
(D) Yamunanagar Forest

(E) Not attempted

Where is Maharana Pratap Horticulture
University located in Haryana ?

(A) Sirsa

(B) Jhajjar

(C) Sonipat

(D) Karnal

(E) Not attempted
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72.

73.

74.

75.

Match the following.

National Parks/ States
Wildlife Sanctuaries
a. Corbett National

Park i. West Bengal
b. Sunderbans

National Park ii. Uttarakhand
c. Bandhavgarh

National Park iii. Rajasthan

d. Sariska Wildlife

Sanctuaries iv. Madhya Pradesh
a b c d
(A) iii iv ii i
(B) ii [ iv iii
(C) i [ iv i
(D) iv i iii i

(E) Not attempted

Tangri river is a tributary of which river ?
(A) Yamuna

(B) Ghaggar

(C) Ganga

(D) Markanda

(E) Not attempted

The common difference of the Arithmetic
11-P 1-2P .
Progression —, ——, ———, ... is
P’ P ’
(A) -1 B 5
1
() 1 D) 5

(E) Not attempted

Which of the following Project of Haryana
is inspired by Great Green Wall of Africa ?

(A) Shivalik Green Wall Project

(B) Chandigarh Green Belt Project
(C) Aravali Green Wall Project

(D) Haryana Forest Rebuild Project
(E) Not attempted
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English Language

Direction (Q. No. 76 and 77) : Fill in the blanks
in the following paragraph by choosing the most
appropriate alternative from the alternatives
given below it.

The cave of Ajanta and Ellora (76)
the magnificent works of sculpture. Whoever
goes there becomes spell bound. Thousands

(77) tourists visit these places every
year. One can stay in the guest house.

76. (A) is (B) was
(C) are (D) were
(E) Not attempted

77. (A) for (B) from
(C) of (D) at

(E) Not attempted

78. Choose the correctly spelt word from the
following alternatives.

(A) permanant (B) permenent
(C) parmanent (D) permanent
(E) Not attempted

79. Give one word substitute for the following

expression.

A period of ten years.

(A) Decade (B) Century
(C) Pioneer (D) Cavalry

(E) Not attempted

80. Choose the correct synonym of the
following word from the alternatives given

below it.
Ultimate
(A) Beginning (B) Famous
(C) Final (D) Victory

(E) Not attempted

81.

82.

83.

84.

85.

Fill in the blank with the correct

alternative.

I for my pen. Have you seen it ?
(A) will look (B) looking

(C) look (D) am looking

(E) Not attempted

Choose the correct antonym of the
following word from the alternatives given
below it.

Blooming
(A) Mild (B) Flowering
(C) Quite (D) Fading

(E) Not attempted

Choose the correct meaning of the
following idiom or expression.

To drive home

(A) To find one’s roots

(B) To return to place of rest
(C) Back to original position
(D) To emphasise

(E) Not attempted

Fill in the blank by choosing correct
alternative from the alternatives given

below it.

He was born 1945.
(A) on (B) at

(C) in (D) for

(E) Not attempted

Choose the correct alternative to fill in the
blank with appropriate active or passive
verb forms.

It since yesterday.

(A) is raining

(B) have been raining

(C) has been raining

(D) was raining

(E) Not attempted
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&= v

g + AT = WA’ g |y
3T & ?

(A) I

(B) Ifg

(C) T

(D) &=

(E) 3rw=nfEa

“STEl IS 7 A1 8 3W FAT had © ?
NREEE]
(B) frem
(C) JarEt
(D) fsta

(E) e

‘HTTH T TRIvoT vsg B, SHHT
HTaT=h G311 €9 AT |

(A) 3T

(B) ITeTE =

(C) 3Tl

(D) A=

(E) A9miyd

‘Tage’ TRH HEE I 3G & 7
(A) wgsiifs

(B) =RumE

(©) &8

(D) HHYRZ

(E) 3w

w2 | 98 fohH a9 1 ISR 7 ?
(A) T T

(B) & e

(C) Tufsra e

(D) 3T ¥ 15 &

(E) A9miyd
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10.

11.

12.

17.

Candidate must bring legibly printed Admit Card with recent coloured
self-attested photo pasted on it at mark B and one identity proof with
photo viz. Driving License, Voter Card, Aadhar Card, Passport etc.
at the Examination Centre failing which candidate will not be allowed
to take the examination.

Candidates are advised to make sure to fill the correct particulars on
the OMR Answer Sheet i.e. Candidate Name, Father's Name, Mother’s
Name, Exam Centre Code, Date of Examination, Session, Roll Number,
Question Booklet Number. The candidate himself/herself will be solely
responsible for all the consequences arising out of any error or omission
in writing these details. Candidate shall put his/her LTI (Male) and RTI
(Female) on attendance sheet, on the OMR Answer Sheet and on the
Biometric Machine along with signature.

Candidates are warned not to fold or make any stray marks on the OMR
Answer Sheet. After filling the OMR Answer Sheet, use of Eraser, Nail,
Blade, White fluid/Whitener etc., to smudge, scratch or damage on
the OMR Answer Sheet during Examination in any manner is strictly
prohibited. Candidature and OMR Answer Sheet of candidates using
Eraser, Blade, Nail or White fluids/Whitener to smudge, scratch or
damage in any manner, shall be cancelled.

Candidates are warned not to carry handkerchief, any mobile
phone, any type of watch, belt, electronic or communication
device, Pen, Pencil, Eraser, Sharpener and Correcting Fluid, wear
ornaments like ring, chain, earring etc. in the examination centre.
If any candidate is found possessing any such item, he/she will
not be allowed to enter in the examination centre. Possession of
mobile phone or any other aiding material as mentioned above
inside the examination room will be treated as serious violation and
it will amount to cancellation of the candidature and debarring him/
her from future examination.

. Candidate’s request to change the examination centre and seat in

the Examination Hall shall not be entertained.

. The scanned photograph of the candidate on his/her Admit Card or

attendance sheet will be tallied with the candidate appearing in the
examination by the invigilator. In the event of any discrepancy in the
identification and verification of the candidate and photographs, the
candidate shall not be allowed to sit in the examination and be liable for
criminal prosecution.

. Candidates have to fill one option compulsorily out of five options

given with only Blue/Black Ball Pen provided by the Commission.
Pencil should not be used for darkening the circle.

. No candidate shall be allowed to go to the toilet/washroom during

first and last thirty minutes of the examination. No candidate shall
be allowed to leave the examination centre before completion of the

examination.

No candidate will be allowed to leave the OMR Answer Sheet blank. If any
OMR Answer Sheet is found blank, it shall be crossed by the invigilator
with his/her signature and the invigilator will also mention “Cancelled”
onit.

. The Answer Sheet will be evaluated through electronic scanning

process. Incomplete or incorrect entries may render the OMR Answer
Sheet invalid.

. If a candidate does not comply with the instructions as mentioned

above or creates any kind of indiscipline, the Commission shall take
action as per instructions and in addition can also debar the candidate
from appearing in the Examination, to be held in future and can also
file criminal proceedings.

. In case of any discrepancy between the English and Hindi

versions of any question, the English version will be treated as
final/authentic.
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Provisional Answer Key for CE1G - 25 (Set-®)
Question No. Answer Key Question No. Answer Key

1 D 51 A

2 B 52 C

3 D 53 C
4 B 54 D

5 B 55 C

6 A 56 B

7 B 57 D

8 B 58 B

9 C 59 A
10 D 60 B
11 B 61 C
12 B 62 C
13 A 63 A
14 A 64 C
15 C 65 B
16 C 66 C
17 C 67 C
18 C 68 D
19 C 69 B
20 B 70 B
21 D 71 D
22 B 72 B
23 C 73 B
24 A 74 A
25 B 7its) C
26 A 76 C
27 C 7T C
28 A 78 D
29 C 79 A
30 C 80 C
31 D 81 D
32 B 82 D
33 B 83 D
34 A 84 C
35 C 85 C
36 D 86 A
37 B 87 D
38 B 88 A
39 A 89 A
40 C 90 A
41 B 91 D
42 A 92 D
43 A 93 A
44 B 94 D
45 A 95 B
46 C 96 D
47 C 97 D
48 D 98 B
49 C 99 A
50 A 100 B
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